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QUESTION 1

Which two statements about VSTP on EX series switches are connect? (Choose two)
A. All VLANS beyond the first 64 will not be supported by VSTP

B. VSTP automatically assigns each VLAN to one spanning tree instances

C. VSTP must be used to intemperate with MVRP

D. VSTP must be used to intemperate with PVST+

Correct Answer: BD

QUESTION 2

-- Exhibit -user@router> show route protocol bgp detail

inet6.0: 8 destinations, 8 routes (8 active, 0 holddown, O hidden) 4444:4444::/32 (1 entry, 1 announced) *BGP
PreferenckE. 170/-101 Next hop typE. Router, Next hop index: Address: 0x934c688 Next-hop reference count: 2 SourcE.
172.27.0.5 Next hop: ::172.27.0.5 via ge-0/0/1.0, selected StatE. Local AS: 3 Peer AS: 701 AgE. 3:22 Task:
BGP_701.172.27.0.5+52965 Announcement bits (1): 0-KRT AS path: 701 4 | Aggregator: 4 10.255.1.34 Accepted
LocalpreF. 100 Router ID. 10.255.1.31

-- Exhibit -

Click the Exhibit button.

Referring to the exhibit, which two statements are true? (Choose two.)

A. The IPv6 route was learned from an IPv6 BGP neighbor.

B. The IPv6 route was learned from an IPv4 BGP neighbor.

C. The IPv6 destination will use IPv4 as the next hop.

D. The IPv6 destination will use IPv6 as the next hop.

Correct Answer: BD

QUESTION 3

-- Exhibit -{master:0}[edit protocols dot1x]
user@switch# show

authenticator {

authentication-profile-name my-profile;
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static {
00:21:cc:ba:c7:00/40 {
interface ge-0/0/12.0;
}

}

interface {

ge-0/0/12.0 {
supplicant multiple;
server-fail deny;

}

ge-1/0/14.0 {
reauthentication 120;
server-fail vlan-name local-only;
}

ge-1/0/15.0 {
supplicant multiple;
mac-radius {

restrict;

}

reauthentication 120;
server-fail vlan-name guest;
}

}

}

-- Exhibit -

Click the Exhibit button.

You just added a device on port ge-0/0/12 with the MAC address 00:21:cc:ba:c7:59. All access ports on this device are
members of VLAN v20. The RADIUS server is currently not reachable.

Referring to the configuration shown in the exhibit, what happens to traffic sent from this device?
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A. The traffic is denied.

B. The traffic is accepted and uses the guest VLAN.

C. The traffic is accepted and uses the local-only VLAN.
D. The traffic is accepted and uses the v20 VLAN.

Correct Answer: D

QUESTION 4

You are working with a new MPLS network that is using the default EXP classifier and default schedules. A small
amount of traffic is being placed in the assured forwarding class. No other traffic is passing through the network at this
time. In this scenario, what happens to the traffic that is being placed in the assured forwarding class?

A. The traffic is reclassified to the best effort forwarding class and is forwarded.

B. The traffic remains in the assured forwarding class and is forwarded.

C. The traffic is reclassified to the network control forwarding class and is forwarded.

D. The traffic remains in the assured forwarding class and is dropped.

Correct Answer: B

QUESTION 5

You are implementing MSTP in your network.

Which three values must match on all switches within the MST region? (Choose three)
A. Context identifier

B. Region name

C. VLANs

D. Revision

E. Configuration manifest

Correct Answer: BCD
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